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Calculator is allowed

Choose the correct answer from those given

(1) In a statistical study to calculate the correlation coefficient ( r ) between
Students' level in Statistics (x) and Mathematics (y) of six students ,
it is found that: }, D? = 3.5, where D is the difference between

the order of variables x and y , then the rank's correlation coefficient 1 =

(@ 0.1 ®) 0.9 (c) -0.1 @D -0.9
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(2) If the marks of students in a class in one of the examinations follows a normal
distribution whose mean 75 and standard deviation 5 , if one student get 80

marks in this exam, then its standard mark = .............

@) 05 1 © 1.5 @ 2
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(4. g) -¥- dsl/e JE (1 0)
(3) If X is a normal random variable whose mean y and its standard deviation o,

then: P(u~§a$X§u+§a)=...

@ 04332 ® 0.3830 © 07062 @  0.8664

A

1.0 0.3413

15 0.4332
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(4) If the equation of the regression line is § = 3 + 0.4x , then

the Expected value of y when x =5is .........
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(4. ) Y- JJE/o/E(w..o)@u
(5) The correlation between two variables is a perfect inverse when the

correlation coefficientr €.........
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(6) If X is a discrete random variable whose range ={ 2,3,4 } and its
probability distribution function is given by the relation

k
f( xX) = -g—, then the value of k=.........

@ 1 ® 3 © 6 @ 9
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(7) If the equation of the regression line is § = 0.5x + 2, the
tabulated value of y is 3.4 when x =2 , then the error of the value

of y when x =2 equals ............

@ 3 ® 04 (© 0.6 @ 3.8
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P(B—A) =....
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(9IfA , B are two events in a sample space of a random experiment S
P(A) =0.45 , P(B) = 0.6 and P(4/B) =0.6, then:
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(10) If A , B aretwo independent events in a sample space of a random

experiment and P(4) = P(4'), P(A U B) = 0.8 , then then: P(B) =

@ 03 ® 04 © 05 @ o6
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(11) A bag contains10 identical balls, 4 of them are white balls and 6 of them
are red balls. Two balls have been consecutively drawn with replacing.

Then the probability that the two drawn balls are red = ...........
4 9 1 2
¢ 5 o5 © 3 @ &

...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................

...................................................................................................................................

@) 03413 ® 01359 (© 04772 @  0.8185

1.0 0.3413
1.5 0.4332
2.0 0.4772
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(13) If X'is a discrete random variable whose probability distribution function

X 0 1 2 3

Fx) (0.1 02 (03 | 04
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(14) If X is a normal random variable whose mean g and its standard deviation o,
then: P(X < u)=...
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('15) If the mean of a random variable y =25, its variance =16, then its
coetficient of variation equal

@) 64 % (b 625% (O 15% @ 16 %
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(16) When tossing a regular die once, the probability of the appearing number 2

knowing that the appearing number on the upper face is an even

number=......
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17) If X is a continuous random variable, its density function is:

L ,0<x<4
flx)=4 °

zero »Otherwise

,thenP2 <X <4) =

------
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